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Consider the quadratic equation ) = —2X P _8x—-4

a) Calculate the Discriminant D. What does this tell you?
b) Find all x- and y- intercepts.

c) Write the equation in the form y = a(x — b)2 +C
d) Use this information to sketch a graph of the equation.
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Describe each of the following graphs in your own words, then sketch
the three equations on the same coordinate system:

Y =4-(x=D7 y=4—(x-1’, y=4-(x-1)
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2.¢ Consider the parabola y = x° —5 and the line y=2x+b.

Note that the value of the line’s intercept, b, is not specified. What value
must b take so that the line and the parabola intersect at exactly one
point?
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